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' I:._.- 'l F:|
= ( After a discount of 34% an article is sold for Rs 3168.
What is the marked price (in Rs) of the article?
34% T GE F TS TF a1 3168 TMA H AATATAT g1 T&
| ?
1 R Fa (T /) [T 8 (a) 4750

(b)i4800_]
(c) 4850

(d) 5000
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= 2 IfXandY are the two digits of the number 347XY such
that the number is completely divisible by 80, then what
is the value of X + Y?
AR X ARY 47XY T&ATH A F & M AE 9&a180 &
A T A AT 8, WX + Y FT A HT 8?2

[ a)2]
(b) 4
(c) 6
(d)8
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4 3 The average of 17 results is 60. If the average of first 9
results is 57 and that of the last 9 results is 65, then
what will be the value of 9th resuit?

17 aforET &1 st 60 g1 It ager 9 aformat FT 3 aa 57 |
g AT e O wiormT 7 3ieq 65 8, A 9 & TROMA T T |

T gL (a) 39
(b) 78
(c) 117
(d) 156
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— 2++/3 1
4 If X =

z_ﬁ,x+;=.

)14 |

(2) 8v3
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cotA+tanB
cotB+tanA

5 What is the simplified value of
WRATHIU B HIH JTd B ?

(a) tan B cot A
(b) tan A cotB
(c)tan Atan B

(d)jcot A cot B
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' I:._.- 'l i’:|
“‘ 6  Whatis the value of [12/(v5 + v3)] + [18/(v5 - v3)]?
T ST HL ?

a) 15(y/5- 43
365 )
(c) 15(v5 + v3)
(d) 3(3v5 + V3)
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7 The present population of a town is 26010. It
increases annually at the rate of 2%. What was the
population of town 2 years ago?

forelt Fed T FQUTT ST 26010 81 T8 2% FT XA
HTATT gt gl 2 TS TS A< i STaaedT fohast Hi?

(a) 25000
(b) 25100
(c) 25200
(d) 25500
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. 8 A train of length 100 m crosses another train of length 150 m,
running on a parallel track in the opposite direction in 9 seconds. |
If the speed of train having length 150 m is 40 km/hr, then what is §
the speed (in km/hr) of the other train?
100 =T F waTs aTAY 37 150 HieT i Fa1E ATAT TEL T H N AR
FLAT g, ST 9 e H fAgdia feom & a9™=iaT ¢ qX I«dt gl I & & |
i 40 oY / weT St siars. 150 Hiex g, av o=y o &t rfar (et /
T ¥) T 7 (@)30 |

(b) 48

icg 50
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' ’ : F:|

__ 9 What is the compound interest (in Rs) for 1 year on a sum of |
Rs 20000 at the rate of 40% per annum compounding half
yearly?

THgIE AT (T H) 1 a9 % forg 20000 Fi Ter ax 40% whaad |
THGIE aL o FAT T TS STTST AT F TAIMTIT SITT 272

(a) 8000
(b) 8650
(c) 8750
(d){8800 ]
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4 1 If medians of a triangle have lengths 18 cm, 24 cm and 30 cm,
then what is the area (in cm?) of the triangle?

0 =fe et e & wftasr & «ers 18 A, 24 99 3K 30 3t &,
ar BAregst 7 e (A2 §) [T E?

(a) 2416

(b) 244
(c) 288
(d) 360
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x¥+3x3+5x%24+3x+1

( If X += = 5, then the value of 1
x*+1

X
HTT ATT L ?

(143123
(2) 47/21
(3) 41/23

(4) 45/21
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= 1 Asif is twice as good as workman as Bashir and together
they finish a piece of work in 30 days. In how many days will|
2  Asif alone finish the work?

T, T IRET FREFAA g M G § F 30 fa7 § w1y
GH F XA gl ATTAE Thet Fohae faAAT | 1T GH HQT?

Ei 90

(c) 60
(d) 75
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(V=) )

@  What is the area (in sq cm] of a rectangle if its diagonal is |
25 cm and one of its sides is 24 cm? |
3 T AT TR (T 9T ) 7 g T T9qehr fawer 26 At

g M SHHT TF {1 24 9T g7 |

(a) 186
(b) 144
c) 132
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( A vendor buys 6 bananas for Rs 25 and sells them |
at 3 for Rs 20. What is his profit percentage?

4 o T 25 T § 6 39 @heaT E A 3 w20 w9
H 99dT g1 SHHT ATH TIAqd FAT 8?2 |

(a) 50

ibt 40

(d) 30
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Two labourers A and B are paid a total of Rs 650 per
day. If A is paid 160 percent of what is paid to B, how
much (in Rs) is B paid?

< ASTEA A 3R B #Y Tiafes o7 650 T T SFraT fHam
STaT g1 I A F1 6T 717 Erar 160 TAqa g B F 9,av

B &' fhaet (3 ) spra fFar srar g7

(b) 400
(c) 350
(d) 450
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4 1 A man travelled a distance of 60 km in 7 hours. He travelled
partly on foot @ 6 km/hr and partly on bicycle @12 km/hr. What |

O s the distance (in kms travelled on ‘ foot?

TF AEHT 9 7 5 & 60 frfy it gt a7 Finl S=i+ it &7 9 ==

@ 6 Tt / et siix it w7 9 s @ 12 & / ser v =

F1l g (FreefeT & e u< Im=n it 18) | E?

(a) 15

(d) 24
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What is the value of Cot 45° - (1/7/3) Cose
60°7?

(1) 1v3

(2)1/2
(3)1/v2
@) 1/3
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- 1 The two equal sides of an isosceles triangle is 20 cm
each and the third side is 30 cm. What is the area (in
8 cm?) of the triangle?

qaigaTg e F & aae s 20 S+t w3 F € sk e
=T 30 9T &1 Bt 7 & (A2 ®) =T 87

(a) 50v5
(b) 100

(d) 175
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What is the unit digit in the product (365 x 65 x
77)? '
(385 x 659 x 771) H THTS S FAT S
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N ] (2 ] %) (2 ) %) (2 _ ;) ..... (2 1909091)

0

(a) 991/1001
(b) 1001/13
(c) 1003/13
(d) NOT
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